[Iletka poropnasa I[PM-1 «Hesa» SHEPIUSs

OcHOBHbBIC JIeTalld U COOPOYHBIE SAUHUIIBI. AxuyoHepHOE OBWECTBO

1 - pexykrop B cGope 005.14.0200-01 Cb .14 - mraii6a 005.03.0124 1.28 - maii6a 14 TOCT 11872 11 - cronmop SLPR 25 - mraitba A10 TOCT 11371 39 - peryar 005.14.0195 Cb
1.1 - Ban BexoguOM 005.14.0220 CB 1.15 - Brynka pacnopnas 005.14.0205 1.29 - 6onr M6x12 TOCT 7798 12 - cienika 005.14.0310 Cb 26 - 6ot M6x45 T'OCT 7798 40 - mmmuaT 2.5%25 TOCT 397
1.2 - crenka mpasas 005.14.0250 Cb 1.16 - Tapenka 005.14.0215 1.30 - raiika M6 'OCT 5915 13 - mraii6a 10.65T TOCT 6402 27 - xomb1ro DIN471-20x1,2 41 - mpyxwuna 005.17.0125
1.3 - crenxa nesas 005.14.0230 Cb 1.17 - xombmo Cr-29,5-4 1.31 - maii6a 6.65I TOCT 6402 14 - 6ot M10x25 TOCT 7798 28 - maiitoa A6 TOCT 11371 42 - 6ont M6x8 TOCT 7798
1.4 - npoxmanxa 005.14.0201 1.18 - mmonka 5x5x11 T'OCT 23360 1.32 - mmonka 6x6x18 TOCT 23360 15 - xponmreita 005.16.0300-03 29 - maii6a 6.651 TOCT 6402 43 - ynop 005.14.0191

1.5 - mems I[1P.12,7-1820-1 TOCT 13568 1.19 - mmonka 8x7x16 'OCT 23360 2 - kapkac metku 005.14.0600 Cb 16 - puxcarop 005.14.0180-02 30 - 60onT M6x12 I'OCT 7798-70 44 - mxus 005.81.0070 Cb
1.6 - pomuk Hatsxurens 005.03.0123 1.20 - mopmumuuk 106 TOCT 8338 3 - meTka quckoBast 78x350x2 17 - ocuoBanue 005.14.0500-02 31 - raitka M16 'OCT 5932 45 - sxpan 005.14.0700 Cb
1.7 - ock Hatskurens 005.03.0122 1.21 - mopmumuuk 180202 T'OCT 8882 4 - konbiio pacnopuoe 005.14.0114 18 - mapuaup kapganueii HO-5101.010 32 - mmumnt 3,2x32 'OCT 397

1.8 - mecrepnst (z-23) 005.14.0203 1.22 - koneiro DIN472-35x1,5 5 - maii6a 12.65I TOCT 6402 19 - koxyx 005.14.0107-02 33 - 6onT M12x45 IT'OCT 7798

1.9 - komeco 3yGuatoe (z-46) 005.14.0204  1.23 - Buat M4x16 I'OCT 17473 6 - 6onT M12x35 I'OCT 7798 20 - Ban 005.14.0105 34 - raitka M12 I'OCT 5915

1.10 - Bax mpoMexyTounsii 005.14.0202 1.24 - raitka M4 DINO985 7 - maii6a 005.14.0109 21 - kopmyc 005.50.0108 35 - et 005.47.0149

1.11 - 6ok Ban-3Be3gouxa 005.03.1200 CB 1.25 - raiika M8 'OCT 5915 8 - raiika M 12 DIN985 22 - xoprryc 005.50.0108-03 36 - maiica A12 TOCT 11371

1.12 - npo6ka 005.86.0112 1.26 - raitka M6x1 DIN985 9 - xonmeco SO-E 100R-C 23 - nogmmmauK 180202 TOCT 8882 37 - mxus 005.50.0150-02 Cb

.13 - kpoimka 005.14.0206 1.27 - Ilaii6a 8.65T TOCT 6402 10 - croiika 005.14.0330 CB 24 - raitka M10 TOCT 5915 38 - kokyx 005.14.0160-01 CB



